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alNnku 1

r]'wmwmnﬂbnm Ywrwywnpnipbwb optnpp Gpyphb Yypwy uny Gnwit: 3ntnwijh PLpithtdtla
dwpn dp hp Yane ni Gpynt npnhaepnit hbun Undwph Gpyhpp wwbnfuunwbwine ghwg

2 61wyl dwpnnil wanlop Ghdkikp ni yang wbnibp Lnkdh neGpynt npnhGepnLG
wintobtpp Uwwinh ni 261 1n0 thG: UGnOp Ghhpwpwgh thh 3ninwjh PEpithtdkh 6L Undwph
Gnyhpp qughl, hnl phwybgwl:

3 Lntuhp0 wypp Gihakkp dErwt Nt Lnkdh hp Gpynt npnhGGpnyp Whwg,

4 Npnbp hptbg Undwpwgh Yphotn weh0: Ukynth wOnap® Npdhw nt dheuhb wbnibp <ente
tn: UOnGp hnb wtnwup tnwnphh swh GuuinwiG:

5 Uwwnh b LGy n0 Gpynipl wi dGrwb: UpGp hp Gpynt npnhO6pks nL wyptla gnipy dbwg:

6 UOhyw hp Gpynt hwputpnyp Giwt, np Undwpeh Gpynkl nuebw), pwbgh Undwpeh Gpyph
ate (ukin kn gk Skpp hp dnnnynipnhb wygbinwehtb pptp £ winbg hwg wnwiny:

7 Ubhyw hp inwé intinkl hp Gpynt hwputipnil htiin G Gie 3niwgh Gpyhpp nwirbwint
hwdwp gwdipnpnbg:

8 unkdh hp Gpynt hwpubpnil puwit. «Quigk’p G wdklh dkyn pnn hp dopp wintlp nwirGuwyg Nt
Skpp dbgh nnnpdnwhtb plk, hGswtu nnip dGrwébtnnll nL hG6h pphp.

9 Skpp akgh wwy, np wdkh 8kyn hp tpywbp windap hwGguwnniehtl gunGl»: 2winbp
hwdpniptg G wlnbp dw)bnGh0 yEpglkind (wghl

10 AL wbnp pupl. «ULGp wlwwwswnr phgh htwn pnt dnnnynipnhn whinh nuinbwOps:

I Awyyg Lnkah puwit. «N°Y hd wnohybtnu, &'w nwpdtp. hGsn®t hwdwnp hGSh htui whuh
Gnprwp. dhpt hi winquiGnhu dtg niph winwielEn Ywa, np dkgh wyn pjw:

12 5'n nwipétp, hd wnohyltinu nt quigt’p. pwlgh tu wwrwikp G nL Gnpkh whunh
sywngnthd: Gt jnju nlbGbwny™ wju ghztn Ywpgnibne pjjwgh neinnuipbtn wy 6GwGkh,

13 Anwp Uh0skL wlnOg dESGwp whuinh uwwuth®p G nnp wunp hwdwp whunh
siwngnithe nt wjuwt"u whwnh dbwhp: N, wnghyltinu, pwlgh dkgh hwdwn 2w’ Yn
guwthd. npnghtunbt Skpnep dGrpp hd ypwu swlpwguies:

4 N wOnbp Gnpkh wyObpOhG YtnpgOting (wgh: G Npthw hp Ytunipp hwdpniptg, pwyg
<nnip wiyk squunnibgu:

15 Uwywyb Lntdh puwt. «Uhw pnt Gpn hp dnnnynipnhG nt hp wuwnnuwésGbnnil nuipdwit.
nnth wy Gepnen Gunbikt nwipdhp»:

16 pwyg <pnip puwt. «2hu Gh” hwidngtp, np pbq pnnnud G ptiqut htrwbwd, pwbgh n'tp np
Gppwu’ hnb whwh Gppwd G n'tn np d0wu™ hnb whunh d0wd: 8nt dnnnynipnn hd
dnnnyntpnu whunh prwy ne pnt Uunnuwén hd Uunniwéu whwnh prwy:

17 M'ip np drGhu” Gu w hnb whwunh dGrOhA Nt hnb pwnnthd. Skpp hGSh wjuwtu Nt wuyk



wibhb pGt, Gt ghu ptguk dwhniwOk quiwn niph? pwb dp quiunk»:

18 Gpp Lntuh wnbuwt, np wohyw dhuinpp nptn £ hptl hbwn Bppwy, w sfuoutigwt wlnn:
19 Gpynipp dkyuintin qugh, dhastit np Ptipithtd hwuwh: Gpp RtpthEY dunw, hpklg
wwwn&wneny pninp pwnwpp 2wndtguwt nt Y'puthb. «Upntop Lnbdhh wuhyw® b»:

20 UOpyw winlOg puwt. «2hu Lnkdh dh Ynskp, ghu Uwnw Ynsbgtp. pwbgh
Udbbwywnnnp nwebnebwip |Ggnig ghu:

21 Bu |gnth qugh nt Stpp ghu Wwipww nwndnig: hasnt ghu Lnkdh Yp Ynskp. pwbgh
Stpp hGSh ntd Jywyniphtd tintwe” ™ ne UWdkhwlywnpnnp ghu Yyuinwgnig»:

22 Ujuwtu Lntuh hp hwpupl, Undwpwgh <enieht htun Undwph Gpypkl Gun nuinéwt nt
quphh hntGdphb uyhgpp PLR(EAES hwuwl:

QLNHu 2

bnbﬂh‘ hp Epywbp Ynndw bt wgguwb dp nibkp: Wohyw Gihakikph wgquunnhikl tp no
2wuwn hwpnuwn dwpn OpG Enp: UGnp wOnibp Pnnu kp:

2 Undwpwgh <entp Lntdhh0 puwt. «Upwinbpp Gppwd G npntd wsphl weebkit nnnpintphtl
gunlbnt plwd, winp Guinbitlt Gppwd nt hwuytn dnnytid»: Uohyw puwt winp. «QOw’,
wnohyu»:

3 <nnip qlwg L wpuinh dp ake duinbGinyg hGédnnbenncl Gunbka hwuy Yp dnnytkp: Wawtu
wwwnwhbguwt, np wihyw Gihatikph wggwwnnhitlt Gnnn Annuh wnpunh0 dke dunwié kn:

4 Pnnu PLp|EhEIED GYwL Nt hGdnnOGpNLlG puwit. «Skpp dkgh htun prwy»: Uanbp puh.
«Stnp ptq ophlk»:

> Pnnu hGénnbtnpnih ypwy ytgnn hp dwbsnih puwit. «Uyu wnohyn npn°tll k»:

6 £0annbGnnth yepwywgnt dwbsp wwunwufuwl wninwwt ne puwt. «unbdhh0 hen Undwph
tnynth nwpénn Unjwpwgh wnohya £,

7 Np ukgh puwt. ‘Ywnuwskyd, npwbbnnih kg hGdnnOGpnil Gunbitth hwuly puntd ni
dnnytd’: Uohyw wewninih Ywbniu GYwt nt 0has6r hpdw Yegwi, ahwyb hpdw'” phs Op
Ouinwi»:

8 Pnnu puwi <eniphl. «Uwp’Yy ppt, wneh'Yu, hwuy hwiwpbint hwdwn niph2hb wpup op’
Gppwn nt wju bkl wy Gh” quwnnihp, hwww hnu hd wnehybtnnwu pny Yaghp.

9 PntL wspbipn winbg hGdwd wnpunhb pwy prwb nt winbg Gkttt gbw: Gu dwbsbpnil
wwuwnbp &4, np pbgh snwshb: Gpp wpwihu® wiwaospnit pny qbw nL dwbstpnel
puwawé oninkl fudk»:

10 G1 <enip Giptuhb Upwy haywe ne gbunlth Gpypwwagniehtd pOsny” wonp puwt. «bOswt’u
Gu pnt wspbpnin wneebit 2Gnphp gunwy nLnnh hGéh htwn §wbopwgwn, npnyhtunbt Gu
ownwip Yht dph Gus»:

2 51 Pnnu Wwwnwufuwb nntwit nL puwt winp. «@nt fpuibn dEr0G(EG Gunpp nnih pnt
Ytupngn hGs np pphp” piNN0 wi wwwndbghl hGsh i ek h*Gswku pne hwpn nedw)pn b
600nEwbn Gpyhpp pnnnighn ni GYwp wjb dnnnynipnhb™ np Gwfuwwtu skhp &wbsbwn:

12 pni gnpéhn hnfuwipkl Stpp hwunnignd pnn pot Ge pne Juinapen bupwitih Stp
Uuwnnén)b ynndw bk wewwnwwtu pnn inpnth, pwOgh nnib GYwn npwtu gh wonp pbltpnl
nwy wwwunwbwnwb op gnbbu»:

13 Lpnip puwt. «N'Y nkp hy, pnt wspbnnin weetit 20nphp gunwyj. pwlgh nntl ghu
dfuhpwntighp nt pnt wnwfuhbhn pwngpniptwdp fuoutiguwn, ptwktwnti Gu pnt
wnwfuhOObptn Atynth wku wy sbox»:

14 51 Pnnu Yepwyniph wuntl wanp puwt. «<n’u GYnip nt hwgtb Yan G wwunwen



pwgwfuhlb dky pwpfut»: Ntunh wohyw hadnnbepnib pny Guwnnwie: UGnp pnhpwé gnptl
wnnthb: UG wy yspwie Ypuinwguwi B wikigwén wwhbg:

15 Gpp hwuy hwwptint Giwt, Pnnu hp dwistpnia wwwnnthpbind® puwt. «f@nn npwatpnil
Ukotl w hwiwpt nL qubhyw dh” wdsglkp:

16 funipdbnth wy wonp hwiwp gawinhbp dgbigkp nL pnn wintkp np hwwpt Gequbhyw dp’
JwOnhdwOgp»:

17 Uopyw dhosbL hphynth wyl wpwnhb dte d0winy hwuytp hwiwpbg nt Gpp hwiwpniwép
6L6tg, Oty wpnnih swu quph Gnui:

18 GL qubhyw wrwt nt pwnwpp dnwt bt Yeunipp winp hwitwpwdén nbuwt: <enip hwibg
hp Yauinwgwiétlt wibigwép wlnp wtnnuwit:

19 Ytunipp wbnp puwit. «Ujuop nipyt™ hwuy hwtwptghn G n®tp pwbgwn. ptgh
Awbsninpniphtl pbnnp ophbGwy prwy»: Uja wunklt wbhyw hp Yeupng hdwgnig gk npn't
pny pwltn k nt puwt. «Uj0 dwnnp, npntlt pny Gu wjuon pwbbgwj, Pnnu Yp Ynsnihs:

20 Untdh hp hwpuhb puwt. «UGhYw Stpnedkl ophlbwy ppwy, np Yahnwohotpkh no
0GrwéUENED hp nnnpdntphllp syunntg»: Lnkoh wlnp puwt. «U)b dwpnp ukn
wqgwuwnnhdtl t, wohyw down waqquywl t dkghs»:

21 UnJwpwgh <nenip puwt. «UOhYw Gwbt hadh puwt pt ‘bd dwlstpniu pnyth op’
quunnthp, dhbgte np wbnGp hd pninp hntGdpu (W0gOGG"»:

22 untuh hp hwnupb <eneh0 puwt. «Unky t, wnoh'Yu, np nntl winp wnohybtpnil hbun
nnipu GiGu ni ptg niph2 wpunh dke pnn suinbulGi»:

23 UOpyw Pnnuh wnehylbpth squnnigwit nt 8hskL quphhl hniGéphb Gr gnpsOpa
hnihGéphb (0GOwp hwuy hwiwptg nt hp Yaupne pny Yp phwytn:

QlLNktu 3

<r2nlrah[| ytunipp® Lnkdh™ wlnp puwt. «Unoh’Yu, ptigh iinth dp sthbwneb™d, npwtu gh
ptah wnty ppiwy:

2 <hdw Pnnu dbp wgquiywbn st°, npnth wnehybennih pny Yegwn nnil. whw wihyw wyu
ahztin Ywihh dk quphl whwnh hnut:

3 Anil (ntwgntt’ nuhinny oéntt’” G jwipknn hwagh'n nt wip hoh'n Gt dhbstL np nunt b ne
fudbip sj00g0k, wjb dwpnnib 8h” juyinOnihp:

4 Gpp phwlw), winp wwrywé wnknp hdwghp L gbw winp nunnptnnil ynndkh swéyngp
pwg Nt wwreyt Gr wihyw ptgh whwnh hdwglt pE h*0s pabnt Gus:

5 N1 <pnip winp puwt. «UGEG hadh wwuwpwdébbpn whwunh phto»:

& Ywp howt nt Yupnop wwuwpwdhl wku ppuwit:

7 Pnnu nunbkG, fudbikh ne uppunp gnuwndwbwikl Gupp™ nhaniwé quphhl Ggtppp
wuwrybnt gbwg: <enip w) Yuwdwgnty dp qbwg nt wlnp ninpbpnlh Ynndkl swéyngp
pwguit bL wwrybgwit:

8 Ytu ghptnph0 dwpnp Jwiugwt nt érbinyg nbuwt np whw hp nuinpbpna pnyd Yha dp
wwrytn tn, puwt.

9« n°Y bux»: UGhYw puwt. «Gu pnt wnwiuhln <enipl A G pnt pnwGgpn pnt
wnwfuhGhn ypwy tnnwpwét, pwOgh nnilb don wqgquywbu Gu»:

10 U0 wy puwit. « il Sktpngudtlh ophObwi prwu, wnohyu. pnt ytpoh wnkyniphtln
wrweonLw Okl 066 £, nnnyhbuinbL wnpwwun Yud hwpniuwn Gphunwuwnnitpnt Guinbitl
squghn:

I Zhdw, ' wnohyu, uh” Jwpubwn, nnib haéh hGs np putiu, whwh pasd. pwbgh hd



pwnwphu pninp dnnnynipnp’ * ghunk np nnth wewphOh Yht aph Gu:

12 hpwignt Gu pnt wgqquywn GY, pwyg hG6AaE wikih down niph2 wggquiywb dph wi Yuwy:
13 Uyu gh2tip hnu Yaghp nt Gpt wihyw wewiownntl hp wgquiywinipbwl
wuwpuwinpniphtop ptgh hwwnnigwlb) nigt, wnt’y, pn'n hwunnigwOt. pwyg bpk wbhyw
wqquyuwinpbwlt wwpunwinpniphtlp pbgh hwunnigwbb sniqk, wjb wunbh Gu Yp
hwunnigwObd: UEOGnwbh £ Skpp™ dhbsbL wrwiown hnu wywiryk»:

14 Nruwinh dhGstL wrwown winp nuinptipntl pny wweytgwt nt dniehl, tpp dwpnhy ntin
sthG ynbwin dtyquty &wbsbwy, Giue 6L Pnnu puwt. «Uwnn pnn sghnbwyg gkt YwihG ok Yht
dunbp b»:

15 Lt puwt. «4dpwih swéyngn pep Nt quibhyw prik»: <pnip quithyw pritg nt wlnp
ytg swih quph swihtig nu wlnp ynwy npuwie: Ubhyw pwnwp qlwg:

16 N Lpnip hp Yaupng pny qlwg, np hpkl puwt. «N'Y wnohyu, h°0swtu Gu»: UGhYyw winp
wwuwnibg hbs np wylb dwpnp ppwt hpto:

17 61 puwt. «hadh wyu Ytg swh qunhb innwwit putiiny. ‘ent Ytupnen wwpwuw dp’
Gppwn’»:

18 GLunkuh puwt. «Unoh’Yu, Guwnt’, ShaskL np ghinbwu pk wyu gnpdp h'Gswku whup
(000w, pwhgh wjb dwpnp 8hOs6L np wyu gnpép wjuop sjuaglt, sh hwbguunwbwn»:

QLNku 4

pnnu nntep Giwie nehnb Guunwie: Bhs ytne Annuh jhowéd wggwywbp Y'wbgbtn: Pnnu
wlninyp Ywbsbg qubhyw ni puwit. «GYn‘tp, hnu Gunt>»: UWohyw nwpéwt nt Guunwit:

2 W0 wunbl wohyw pwnwph ébnkpklh tnwup dwpn wewt ne wOnOg puwt. «Ujuwntn
Ouuntbgtp»: UGnOp Guunwib:

3 BGwpp wyl wggquywbh puwt. «Undwpeh Gpynkt nwpdénn Lntuha dkp tinpopp Ghuktph
wnpunhb pwdhOp dwiubint ypwy k:

4 Gu dinwétigh, np ptigh hiwgltyd Nt pubd. ‘Qwohyw wju Gunnnbbpnild weekit i hi
dnnnyntpnhu dtpbpnch weebi Swiunt wn: Gpt wgqqwywbniptwb hpwintbpny qubhyw
owfunt wrlb] Y'nigbu, dwiunt wn. pwjg et dwiunt wrbt| stu nigbp, hadh hdwgnip
npwku gh ghinlOwd, pwlgh pbqil quun wggwywbnietwb hpwintbpp Ywwnwptine dkyp
sywy: Rquk Gunpp Gu GU'»: UGhYw puwt. «Gu wgquwiniptwb hpwintbpp Yn
Juwnwinbu»:

5 Nt Pnnu puwit. «Inth Lnkuhh dGrptla wpwp dwiunt wewé opn” ttrGNNNG YUnouta,
Unqwpwgh <enipl w dwiunt wrelbint Gu, nnwtu gh dtrGnnhb wOnlbp wwhtGu hp
dwrwOgnipbwlp dte»:

6 6L wgquywlp puwt. «Gu ht waguywbniebwlu hpwintbpp s&U Ynbwp Yuunwpt,
spiwy np hd dwnwbgnihtbu wiptd: b nilbbgwd wggqwywbnietwl hpwintGpu nnih
Ywuwnwnk, pwlbgh Gu s60 ypnhwp Yuwnwnpb»:

7 Unw9 bupwjtih dto wyu unynpniphtlp Ywp: ®pytint nt swiunt welbint gnpdtpnil ke’
wAatt pwl hwuwnwwinbne hwdwn, dwpnp hp Yo2hyp Yp hwbkn nt hp paytpha ynt trnwip:
Uuhlw Pupwith dte Yywyniphil U'pjjwn:

8 Nunh wqguywbp Pnnupb puwt. «nth swiune we» nLhp Yozhyp hwlbg:

9 Pnnu dtpbpnth nL pnnp dnnngnipnh0 puwit. «inp wyuop Yywy kp, np Gu Gihakikph
pninn unwgniwépn ni L6nGh 6L Uwwinbh pninn unnwignuwépp LUnklhhb dGrptl Swunt
wrh:

10 Ny UwwinOh Ypap, Undupwgh <enipl wi hGSh Yhh weh, npwtu gh dGrGnnhl wnilp
hp GnpwynbBntt n hp phwywnpwOhG nrOtG sytnOwy. nnip wju pwOhG hwdwp wjuop Yyuwy



Ep»:

U0 wunkl nniep Gnnn pninp dnnnynipnp ne Stiptipp pupb. «4yw) GGp: Stpp pnt inniln
dunlnn Yhbp Nwpkihl G LhuwghO wtu pOt, npnGp Gpynipp bupwgkih tninibp 2hGeghG: Yl
Gihpwpwih dtg gopwghn nt Rtip|thtdh dkte wintd uuwnyt”:

12 At pnt intln Qwipkup twbp wku pwy, np Budwp Gwt 3ntnwyh0, wyl utpninny’ np
Stpp whunh nnwy pbgh wyu Gnpwhwuwy Yaneakh»:

13 pnnu <pniep wiewt, N hpk0 Yho Gnwt ne wbnp duinwi: Skpnop nnnpdntehtlnyp jnwgwit
nt npnh 0p sbwi:

14 Ynbtpp LnGYhhG pupl. «OnhGGw| prwy Skpp, np wjuop ptq wewbg Jown wqgqwywh
spnnnig, npwktu gh wanp wbntop bupwkih Ak jhonth:

15 Uuhyw pnt hnghhn dfuhpwpniphtlp, tnpniebiwln quiiwquin pnn pjw). pwigh
qulhyw ptq uhpnn hwpun 60w, np ptigh Gopp NPt wnty E»:

16 N UnGUh LnWb wewt” hp ghpyp npwt GL wOnp nwytwyp Gnwt:

17 Anwgh Yhotpp wbnp wanh nppl’ putiny. «untdhhl npnh Up 60w GL wbnp wanllp
Nyptn Yngbghl: Uuhyw Ywirhph hopp 3Guuth hwynpb tp:

18 GL dwptuh SGnonOGpp wunbp GO: wptu sGwt Gupnbp

19 A1 Gupnl dGwL Unpwdp Gt Upwd® ™ §0wl UdhOwnwpp

20 ML UdhOwnwp 60wt LwwunOp Gt Lwwunb §Gwt Uwninlp

21 AL Uwndnh §Gwt Pnnup Gt Pnnu SGwit NYpknp

22 M Nptn §0wt 3tuuth G 3Guut SGwt Ywithpp:

For other languages please go to www.wordproject.org


https://www.wordproject.org/

	ՀՌՈՒԹ
	Գլուխ 1
	Գլուխ 2
	Գլուխ 3
	Գլուխ 4


